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BANKING AND FINANCIAL MANAGEMENT

First Paper (Financial Managemént)

Time Allowed : Three Hours Maximum Marks : 100
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G Part - A (31771-37) (Marks : 20)
ive names of any two responsibilities of a Modern Finance Manager.

T YT A Jeae @ a1 < @l @ T I |

" Write any two limitations of financial statements.

i fageolt & o <A I faRkad |
Give two differences between current ratio and quick ratio.
9T U T @Ra Y § A IR A |
and cash budget.

Give two differences between cash flow statement

AFE A8 R0 q91 A5 Fie F 2 I TN |
What is marginal cost of capital? S il ST T 14
Name two methods of calculating cost of equity capital.
FaT goit £ ST T Y B A Rl & A g |
Give pames of two techniques of financial forecasting.

ey qatgT Y Q T B T T | :

If P/V ratio is 50%, margin of safety is Rs. 1,00,000/then make an

estimate of profit.

If AT A 50 e IR gREm WA 1,00.,000 . A
AT I DI | ,

What are defaulting costs? g% ST &1 B €7

What is Economic Order Quantity? Sfefe ey 7 et 7

Part-B (A1) (Marks : 20) .
jected Balance Sheet Method of ‘estimating Working

What is pro
c@itm?ﬁmwmﬁﬁmﬁwﬁfﬁwﬁ?
Explain the ‘Lock-Box’ System. ,

| ATp-aTa’ AT B T B |

What is ‘Walter’s Formula’ of dividend policy?
ArTE AR Y wEPTd deex A T 87
State the Incidential or Routine Functions of Finance.
g @ Yoe o/l siea e e gl |
What is stable dividend policy? Explain.
o arier AR R A0 §7 T AR |
Part-C (9F—9) (Marks : 60)
What do you understand by Financial Analysis? Explain various
techniques of Financial Analysis in brief. o<t faweor 3 /a1

m?r%?ﬁﬁmﬁﬁma?féﬁ?ﬂaﬁaﬁaﬁﬂm&ml

The following data are extracted from the published accounts of two
companies in an industry: '
XLtd. YLtd.
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. R.S.
Sales

16: L]
Net profit after tax g(l) ggg

Equity capital (Rs. 10 per share fully paid) 5,00,000

General reserve 1,16,000
6% long-term debt 4,00,000
_Creditors - 1,91,000

” Tax Paid k 25,000

. Bank credit (short term) 30,000
Fixed assets 7,99,500
Inventories 1,65,500

. Other current assets 2,72,000

Rs.
15,00,000
79,000
4,00,000
3,21,000
3,30,000
2,74,000
30,000
1,00,000
7.95,000
4,04,500
2,26,000

You are required to prepare a statement of comparative ratios
showing liquidity, profitability and activity of the two companies

d give suitable comments.
o e 1 < parl B G dral ¥ R T el A I E:
Xfa. Y fo1.
. . 9.
bt 16,00,000 15,00,000
X I gg A 61.500 79,000
sier ol (qof wa ufy o 10 ¥)5,00.000 4,00,000
g B - 1,16,000 3.21,000
AgFren A #01 4,00,000 3,30,000
IER 1,91,000 2,74,500
B g 25,000 30,000
¥ TR (AEPINA) 30,000 1,00,000
. <oy weafr 7,99,500 795,000
4 1 65,500 4,0:,383
wrafon 2.,72,000 2,26, .
ﬁ%m,mamﬂmﬁwﬁhwm@ﬁaﬂ

A

heet of G Limited.as on 31st March,

7. Following are the Balance S

| 201 mdﬁglmzcé Sheet (as on 31st March, 2011 and 2012)
= ™arch 31 o12
- Liabilities - 201%s 1 2
mwwltm ' 42,800 52,000
Geﬂeffl Reseve 34000 32,000
Er%iwfs : 19.500 12,333
Prov@s@on for taxation debts Bg:%g 4%:400
I;gotgsmn for Jor TI5I0 3,381,100
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March 31
Assels - 2011 2012
Rs. Rs
Buildings I )
| . 83,6
Plant ai_ld Machinery : 76,528 . 320028
(I'.inoodmll ] ) 26,000 26,000
- vestments 20,000 22,500
tock 60,000 56,000
Debtqs ' 44,000 44,000
Prepaid expenses 140 600
Cash in hand 16,000 18,000
3.30,300 3.41,16U

Additional Information :
5 4)) The profit for the year was Rs. 17,200 whichhas been arrived
at after charging Rs. 6,100 by way depreciation and increase
in provision for doubtful debts Rs. 400.
(i) An interim dividend of Rs. 10,000 was paid in January,
w0 2012 _ '
(i11) Additional plant was purchased in February, 2012 for Rs.
10,000.
@iv) Investment (cost Rs. 10,000) was sold in November, 2011for
' Rs. 9,600 and on 1st March, 2012 another investment was
- made for Rs. 2,500.
v) Incormne tax Rs. 36,000 was paid during the year and charged
against the provision.
are a statement of changes in working capital and a statement of

sources and uses of funds. - .
31 ¥4, 201 1.9 2012 B RS B Refly Razor fr JoR &

(Rafy faaxor 31 ", 2011 9491 2012)

1

RE - 2011 2012
w. .
i 39 qont : 2.00,000 2,00,000
T B | 42,800 52,000
g @i 34,000 32,000
A 19,500 12,760
H-WQEA 38,000 42,000
wferg w01 @ fae IDICE 2,000 © 2,400
= —_—a 3,36,300 3,341,160
S, - 37 A|
> Teaferdi 2011 2012
= . w.
- — = 93,600 90,000
3 w3 v A 7265:3 s;écg
=
o
L]
-
=
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fafam
= 20,000 22,500
TR 60,000 56,000
44,000 44,000
T & K0 - 600
TRIG Fhe
16,000 18,000
3,350,300 3AL160° -
SIGRIRE 3’“:
(1) > Rom T H RN 17,200 ©. AW F 6,100 %.
T G 400 . GTg H01 S Y IRSH B P TR
i B TR | : '
(i) oFEd, 2012 % 10.000 . I=IRA aa > gPH T |
(iii) ead, 2012 % 10,000 ©. B ARG AW HY BRI
(iv)  Rfdr (@ 10,000) B TR, 2011 #9,600%.F
ST G 1 96, 2012 B 12,500 6. F =g fafarT
& [ T | |
(v) dPARE 36,000 . TGP S PR T TA = AR
. | Iga e |
. aﬂﬂﬁaqpﬁﬁqﬁaﬂ#mﬁmﬁm$ﬁ\ﬁiwmm
faazoT AR B | |

OR

The following figures relate to two companies :

(Rs. Lakhs)

~ . ‘Particulars RamLtd. Shyam Ltd.
Sales 4,500 3,000
--_Variable cosls 1,800 900
Contribution 2,700 2,100
Fixed cost 1,350 1,200

. -Eaming before interest and tax 1,350 900

" Interest . 450 - . 300
" Profit before tax 900 - 600

- You are

required to : (i) Calculate the operating financial and

combined leverage for the two companies, and (ii) Comment on the

" relative risk position of them.

Q) HRfELY Fad ifes PR &:

- (. A )
faavor < fa. wH .
&l 4,500 3,000
TRad e AR 1,800 900
MEH 2,700 2,100
TR AR 1,350 1,200
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IR E AW W oo 1350 900
st - 450 300
P Q4 AT 9200 600

\ se‘\"'t

AN

uuaauluonummw/:dnq

m(i)aﬁimﬁzﬁmqﬁam,ﬁﬁwﬁgwmawm
¥ A (i) STA WRRp SRaw Ry WX Rl B T

A multi-product company has the following costs and output data
for last year :

Product

, A B C
Total _
Sales mix : 40% 35% 25%
Selling price (Rs.) - 40 50 60
Variable cost per unit (Rs.) 20 30 36
Total fixed costs (Rs.)
3,00,000
Total sales (Rs.)
10,00,000

The company proposes to replace Product C by Product D. Estimated
cost and output data are : _

Product .
A B C

Total
Sales mix : sogo 3?0% 223& .
Selling price (Rs.) 4
Variai%lgncom per unit (Rs.) 20 30 36
Total fixed costs (Rs.)
3,00,000
Total sales (Rs.)
10,00,000

Should the company replace C by D? Show computations.
w@—mﬁﬂ%ﬁﬂ%ﬁ%@ﬂﬁﬁmwa%wﬁw o

I -
A B C
g fht FAvT T 40%  33% 25%
o W ST (W) 20 30 36
o Tl A () 3,00,000
10,00,000

st (8)
?ﬁwcaﬁWD%qﬁwﬂammtlmw

v friw a99s &:

gJdi< .
A B C
@f&aﬁﬁm 50% 30% 20%
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a1 (%) 0 0 &
RN A IR TP () 0 0 36
B XA A (6) 300,000
T 9t (§) 10,00,000
T FA B C B IRRAGT D S Fifee? 7o i@y |
OR
Explain the principle of ‘Trading of Equity. Discuss its utility to
management and point out its limitation. ~e

T R AR’ & Rigra &1 9= | yavg @ e swe suafiar
&1 9oiF HfeTe AR gadh Gmreli gx g siferd |
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